1.   Kyle is confused. He has incurred a balance on his credit card on which he pays interest at an annual rate of about 18%. Then, he reads that the interest rate that the Federal Reserve charges to banks is currently 4.75%. 

Which of the following factors best explains the difference between these two interest rates?           
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	A.  
	Risk of default
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	B.  
	Taxability
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	C.  
	Loan size
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	D.  
	Maturity


2.   Read No Evil (RNE) is a firm specializing in the destruction of sensitive documents. An industrial paper shredder costs $10,000. If bought, it would raise RNE's revenues by an additional $1,000 per year. The machine will last forever and never require maintenance. Which of the following statements is true?           
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	A.  
	RNE should buy the machine, because it will last forever and, since it generates an extra $1,000 per year, it will pay for itself in 10 years.
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	B.  
	RNE should buy the machine if the interest rate is less than 10%.
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	C.  
	RNE should not buy the machine because its marginal revenue is $1,000, while its marginal cost is $10,000.
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	D.  
	RNE should buy the machine if the interest rate is greater than 10%.
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	Consider an agricultural economy in which tractors are the only kind of capital. Using the supply and demand graphs below, show the effects of each of the following changes on the market for loanable funds. 

Tool tip: Click and drag one or both of the curves. Curves will snap into position, so if you try to move the curve and it snaps back to its original position, just try again and drag it a little farther. When you are satisfied with your answer, click the Submit Answer button. 
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	3.2.  
	The price of agricultural products increases.
	


	 
	Consider an agricultural economy in which tractors are the only kind of capital. Using the supply and demand graphs below, show the effects of each of the following changes on the market for loanable funds. 

Tool tip: Click and drag one or both of the curves. Curves will snap into position, so if you try to move the curve and it snaps back to its original position, just try again and drag it a little farther. When you are satisfied with your answer, click the Submit Answer button. 
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	3.3.  
	The government increases taxes on interest income, reducing the return to saving.
	


4.   The concept of present value gives the equivalent in dollars available immediately to a payment that is made at some point in the future. 

What amount of money today is equivalent to $1,100 one year from now, if banks are paying an interest rate i = 10% per year? In other words, what is the present value of $1,100 received one year from now, when interest rates are 10%?           
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	A.  
	$1,110
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	B.  
	$1,210
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	C.  
	$1,000
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	D.  
	$900


5.   Suppose that a relative agrees to loan you $1,000 today, with the promise that you will repay the loan with interest after one year. If you pay $1,120 at the end of the year, what is the interest rate for this simple loan?           [image: image42.png]
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 % 
Please enter a whole number, with no decimal point.


6.   True or False: A dollar paid to you tomorrow is worth more than a dollar paid to you today if the interest rate is high rather than low.           
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	As the owner of an acre of forest land, you have to decide how many trees to harvest each year. Initially, you maximize your economic profit every year, and the rate of return of holding on a certain amount of trees exactly equals the rate of interest on alternative uses of your earnings. 

To battle the 2001 recession, the Federal Reserve Bank aggressively lowered the interest rates in the United States, hoping to stimulate consumption and investment activities. 
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	7.2.  
	An increase in the demand for land will cause which of the following to occur? 

I. For land that was better than marginal even before the increase in demand, rents will increase. 
II. For land that was previously marginal, rents will decrease. 
III. For land that was previously marginal, rents will increase. 
IV. For all the land that was previously not worth using, rents will increase. 
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A.  
I and III
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B.  
I and II
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C.  
I, III, and IV
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D.  
II and IV



8.   Some have argued that the California real estate market is currently in a "bubble"--that is, the price of housing is higher than present levels of supply and demand would indicate. Consider two identical houses that sit side by side on a street in Palo Alto, California. One is offered for rent at $3,000 per month. The other is offered for sale at $1.2 million, which at an interest rate of 5% works out to cost $5,000 per month. Despite this discrepancy, which one of the following statements might be a valid argument AGAINST the proposition that the real estate market is in a bubble?           
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	A.  
	Land in California is scarce, and future immigration into the state is expected.
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	B.  
	Earthquake damage is a perennial concern in California.
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	C.  
	Termites are a major problem in Palo Alto, increasing the costs of home ownership.
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